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PHILOSOPHY
[GENERIC ELECTIVE]
Course Code : PHIH-GE-T-4

Full Marks : 60 Time : 24 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
@~ wifl eeas T wis ¢

Translate the following sentence into a standard

propositional form:
e ARG vl SieiEd SR o0 wifFere 363t e

1)  Almost all the students were present on the

playground.
AR 9 BIaE (R A THARS foe |

i1)  Show a Obversion of proposition of 'O'.

G5 'Q' W/ [aea s |
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iii)

Vi)

vii)

viii)
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Symbolize the following sentence into logical

form:

e A YR e SR Ao
Rl 8

a)  Socrates is a philosopher.

HACFOH AFGTe Tl |

b)  Apples and Mangoes are both nutritious

and delicious.

ol @ N 2fBFa @R FM |
Why is Contrary Opposition not admitted

according to Bool?
iR e [efdhe Reaifael Fpe T3 @2

What will be negation of a contingent

sentence?
g3 weifess i ey [ 2@

What is meant by inclusive sense of the word
'OR'?

TRl #ioe S g @i & @R
What do you mean by Complementary Class?
AR @ TeTCe [ @RI

Give an example of the joint method of

Agreement and Difference method.

S-SR IA Aafod @b Twizgel wie |
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Give an example of method of Agreement and

Difference.

SHA-GISTR Amfoq @ Tuiggd wie |

x)  What is Bad Analogical argument?
7 Tl e e

xi)  When 'P=Q'" is false?
9 "P=Q' T e

xii) Why the conversion of "O" proposition is not
possible?
@ 'O' TR TS TGS 9 2

xiil) What is meant by truth-functional proposition?
TSI oo 0o [ (@I 2

xiv) What is meant by distribution of term?
AW lofel @ [ @R e

xv) Ifp.qis true then what will be the truth value
of PVQq?
p.q W 7y 27 OizE PV q-97 oy [ 232

2. Answer any four questions: 5x4=20

-G R 2rid Ted 1ie ¢

i)

580/Phil

Determine the wvalidity of following

arguments:

e Yfeefm tmrel o s ¢

a)  The study of mathematics increases the
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thinking power, but since the study of
logic is not the study of mathematics, it

does not increase the thinking power.

sffehexiig SR bk I 7, [FE @Ry
Ifemirg s alfoxirg SR w7, 37
fowmife g e =1

b) No Snakes can fly. All snake lay egg.

Therefore, some creatures that do not fly
lay egg.

(I A2 ST =1t | 77 A3 {6 AT | ok
@ @ G @ T i, et 9

Test the validity of the following arguments

by using Venn Diagram:

cofbran FRicy FsfRie Yok werel R
Al 8

a)  No one present is out of work.
No members are present.

Therefore, all members are employed.

Toifze Ifema € ST 7 | (FI 2

SRS T | AR e AT T I T |
b) CAMESTRES
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111) Use the truth table technique to determine

whether the following statement forms are

tautology, self-contradictory or contingent:

ForAaMa Wi @7 s faxfaivse
FFRSE Foorey, Fosid el Wl
e ¢

a) p>[p>(q~q)]

b) [(p:)q):)r]z[p:)(q:)r)]

Why 'BRAMANTIP' and 'DARAPTT' are not

admitted as valid moods in modern logic?

'BRAMANTIP' 932 'DARAPTI' Srigf«<
CHRGBIH (RS JCE 91l T (el 2

What is analogical argument? Briefly explain.
Toil Ife fFe eERGRPIE 1L 4|

Distinguish between Deductive and Inductive

argument.

SRR @ AR G [ A1 I |

Answer any two questions: 10x2=20

@I 7fo 2o Ted wie

i)
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Put of the following syllogism into standard
form, name its mood and figure and test the

validity by using Venn Diagram: 5+5
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e gfeefem Trmerre s i weisfte
1, S 8 AT A (774 AR (DGR AR
[SSSRSRERIGIE

a)  All that glitters is not gold. Tinsel is
glittering. Therefore, Tinsel is not gold.

T 5F6F F@ Oz G 79 | BT vabs
I | oA BAEE Gl 3 |

b)  No weaklings are labor leaders, because
no weaklings are true liberals, and all

labor leaders are true liberals.

@FF e Wl W, @A (FI g
ARSTFICIR THIF TR 3R ¥F (TOI2 ANSIHI
T |

Use truth table to determine the validity of the
following argumants (any two): 5+5

TRl AR Woa Iewkr @ael [om
3 (@@ 9fB) ¢

a) UD(VvW)
(VvW)o~U
o ~U

b) AD(B-S)
~B
s~ A
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c)  (Iv])o (1))
~(IvJ)
s~ (1e7)

111)  What do you mean by enthymeme and sorites?

Briefly explain.

WY R e TR g @ ORI
FREPAIFICT TI FCl|

iv)  Critically discuss Mill's method of difference.

i afeEd ool ARwi e @t
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